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g Safaiftn / ELECTRICAL ENGINEERING
1 Which of the following motors has no winding on its rotor?

(A) Single phase Induction (B) DC shunt

\ﬁ) Hysteresis (D) Universal

£ e & fpa \iey & Aew A B Hosad T& 8y ?
(A) T HGT URoT B) SN I
(C) fRRRfEw (D) w\rEfyw

2 Magnetic cores are made up of thin lightly insulated lamination to reduce-
(A) Power factor (B) Hysteresis loss
(C) Load loss \_,ftﬁ Eddy current loss

VD #9Re or @ vd aEc suoes Iftem @ 81 & Rraw 5 e

Y (A) dfaw waexw - (B) RBERE «dw
(C) NS < D) TS dx< did
3 Swamp resistance and condenser are used
(A) To reduce the error while measuring DC quantities in a movmg iron
instrument
P n\})" To reduce the error“while measuring AC quantities in a moving iron
-@ instrument
(C) To reduce the error while measuring DC quantities in a moving coil
' instrument

(D) None of the above

ﬁmuﬁ‘sﬁu@‘ﬂaﬁawmz ;

(A)aﬁrﬁﬁgmaaﬁﬁ&:amg%aﬁmmﬁra%%qﬁ?mmm%

(B)aaaﬁgmaaﬁwmmﬁwg%aﬁmaﬂﬁa%mf%m
ST ®

(C)aaagvsﬁmaaﬁumfﬁmzﬁam_mﬁa%mﬁmwg

D) TAH § PE TEr

4 Rheostatic braking cannot be, used in which of the following motors?
A) Synchronous (B) Induction
9 (C) DC (D) None of the above
Rafrerfes afFT =1 garr e & A R A@ier a8 87 \oar
(A) Tgssifas : (B) =T
©) 3 D) T A I T8
5 A transformer works on the principle of -
(A) Self induction (B) Mutual induction
@ {C) Relative mduction (D) Comparative induction
U gieprR P 3§ ) fea Rmra w® s sear 82
(A) 9o s—SaTH B) RERPIA s—Sag=
(©) Rafea s~earm D) FRFET g~saw™
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faga &t / ELECTRICAL ENGINEERING

Following is not an advantage of a permanent magnet moving coil instrument
(A) It has a uniform scale

B) It can be used without error for a long period of time

(C) It has good damping torque

(D) Its range can be easily extended

Wl grad gHUl g @usenl Sudd # O # o[ #F |1 Usared
(wraen) & e &

(A) SHST YHET @HEY BT &

(B) s9aT wANT fa=r e 3y ovw wwa a@ fear smowwar 8
(C) SEdT JgA-—< dFeegol =BT 8T 8

(D) s9® W &7 A ¥ R fear snowear 8

7 A three phase Induction motor always
%) Works at lagging power factor
(B) Works at leading power factor
(C) Works at maximum (i.e. unity) power factor
(D) The power factor keeps changing with the load
T wol URor #Wex AR
(A) uzamr oifd ures o) R Bl 8
B) 3T =fda Ui uR B Rl '
(C) =fSraw (1) oifde Yurs o9 &R & 2
(D) wfeRT qoTep HIie @& ¥R & AR gQdAdl I8l 8
8 In DC machines the value of A equals to 2
(A) For Lab winding ) For wave winding
(C) For Field winding (D) For Armature winding
W 7 H A BT AF 2 BEAT B
(A) A9 giEfEST =g (B) dg aidfST 2g
(C) Wies TEfET B (D) 3IHER aAEfST BY
90\ The internal resistance of a voltmeter is 20,000 ohms. If this voltmeter is
connected in series with a resistance and a 220 volt supply is connected
across the combination, the voltmeter reads 200 volts. The value of the
resistance is
U dieedier HT IafRe ufREr 20,000 3tW 8| I8 Wiel Udh IS
uﬁﬂa%msﬁvﬁm‘;@?ﬁ?wnomaﬁmﬁﬁmﬁw
200 diee Ugdl 2| IS WRRRI &1 "HF 7 7
(A) 200 Q . (B) 4000 Q
WAC) 2000 Q (D) 20,000 Q
10 The supplier shall provnde and maintain for the consumer’s use a suitable

earthed terminal in an accessible position at or mear the point of
commencement of supply. Which IE rule states that? :

WA A YHIT T S WERR SUHIGT WY O Wy i wRite
ga™ U MR IHESHT rgRerer W BT us #W war IE fram g7
(A) IE 33 (B) IE 61

(C) IE 67 (D) IE 88
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fga $RFaftn. / ELECTRICAL ENGINEERING
£ 1 A series motor must never be allowed to run at
~X) No load (B) Full load
(C) Half load (D) None of them _
Thp S Hiex dr N @ B 3 F e v 98 gemEar afag ?
(A) =1 &rs B) T S
(C) BI% drs (D) ST A HIs A8

12 In a thermal power plant, feed water heaters, super heaters and air preheaters
are mainly used to
(A) Have a better dust removal in the plant
(B) Have a better Ash removal in the plant
Increase the efficiency of the plant
(D) None of the above

I efd I # O WROT o e, ifdaues gd g gddaiae BT WAET
fpar s 8 gegadar

(A) = ¥H g8dR gd fFrarur 8qg

(B) €I # 98aR Ixg Addw 89

(C) wHI= o w&fal de™ B8q

(D) T8 | P18 o

13 Which among the following is not an electric braking method for a motor?

(A) Rheostatic (B) Regenerative
W2¥ Hydraulic (D) Plugging
=1 § | P a1 "Hiex &7 fAga feT & o e T8 8§ 7
(A) emreefes B) g
(C) =™ ' (D) T
14 The characteristic impedance of a loss less line in called. e
(A) Leakage impedance (B) Peak impedance gkp i
(C) Small impedance Surge impedance < f""
gep BT B g @ SIS ®T Hed B ?
(A) oda A= B) We S|
| _(C) S IS _ M) T TS
15 For what value of R; (in ohms), it receives maximum power? # ‘
30 3 49 - f) \
!7__ : ...._.i._._..._.._..-_.._.._.,....n. T PR
| i
oy == ~en
\ S R
goga o § R, & 9 w9 w ' qray utel 8w I ?
(A) 5 Q ) 6 Q
©) 4 Q o 7 Q
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fga Shfafin / ELECTRICAL ENGINEERING
High voltage cables which are used for 132KV for these core’s are
(A) Oil filled cable (B) SL cable b
(C) Gas pressure cable (D) Belted cable ' - ek
W?@Eﬁ@%@%ﬁaﬁqmﬁ1ﬂvww1ﬁmvﬂﬁ
gl Bfdss d= d@H ;8 7

(A) = gRa @fea B) SL =f*a
(©) ™M T Bfas (D) 4qfeea =»fa=
Arc voltage is given by equation
TP dreed BT #HE e '/

- .
(A) ‘"’0=A+7; ®) = A+ Bi

: A
)@ T+ °

The current through a 22 resister will be’

- 5 . . o -
vy B t
- B T
(,X 2
. o
v A > \v: L\

uﬁiﬁﬂﬁwsﬁa'lﬁ‘rws‘ﬂﬁ‘?

2A = : @) 3A - i : o
‘Cannot be determlned \_g)‘)' SA & " ;

8 fAwren S |odar

A)
©

19 Through which source is maximum electii‘éity generated in the world?
(A) Water Nuclear power : o
(C) Coal (D) Solar power $ %2
"gﬁmﬁm@rmm%ﬁhﬁﬁwﬁﬁaﬁm%?
(A) 9 B) 9=y : . B
(©) rIgaEm ®») I

20 If 5, 10 & 15 ohms resistance are connected in parallel, the combined
resistance is ohms.
afe s, 103ﬁv153ﬂ'q$uﬁ-‘mﬁmm=ﬁvﬁg$%?ﬁﬂﬁwﬁ-‘m
SO csomsnsins 3H BEIT |
(A) 15 - (B) 10 (o
©) s @7 2.73

EME-2015 / 1I_D ] 50 - [P.T.O.


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


WWW.prepp.in

prepp

Your Personal Exams Guide

frga APt / ELECTRICAL ENGINEERING
The mechanical test is done on which type of insulator? =,

™\ (A) Shackle type e Pin type
(C) Strain type - (D) Suspension type
mﬁmuﬁwwmmﬁmwmmt?
(A) NHda s B) =1 <=y
() fxfy g™ (D) sET (SedT B3I UTHU
22 Separately excited and self-excited are types of which machine?
\As’ DC machine (B) Synchronous machine
(C) Induction machine (D) None of the above
sHACH STASesS Ud Uoh SaNges A fhd U & #IH & UPKR
B B 7
(A) ST |+ (B) dawmifaas #7204
(C) uRur HINH (D) S99 | HIF A8

23 In terms of relays, IDMT relays stands for
"(A) Inverse direct maximum time lag
ws#B) Inverse definite minimum time lag

(C) Inverse definite maximum time lag

(D) None of these

Ret @& Hdegr § IDMT a7 & °?

(A) =< SrRge Afaers eds A

(B) - s=aw Sfhae Affsm eda &

(C©) <99 Spae AfFaHy oEdn A
L @) T oA @E ad

24 In a three phase Induction motor normally
\J4#* The rotor rotates in the direction of the rotating magnetic field.
- (B) The rotor rotates against the direction of the rotating magnetic field
(C) The rotor rotates depending upon the supply given to it
(D) The direction of rotor rotation does not depend upon the phase sequence
of the stator supply.

Presh dRor \@ex ® wmraarn
(A) ex # Faffa gofl geaa a3 ot & fRen § Jdex gwar 2
B) wWex # affa goff geem &3 & fauda f@en § Jex goar @
(C) e # & TE 9eE & IR WX e gHar B
(D) ex ' gHa B faznm Wex | s S Wl IgHH uw i =98
I B

25 Value of V,; will be-

V, T HE BRTT

—-EETT

'v o
V. . > N _ -
Fl i - ._..._4_{.1 GQ Spa o — : " ¥ Y’i *_“__]___a__,_‘:- - b
1A (T < _aA Mé'/'/\q &9
e =20 =70 s

T 1 ; ; \L,_v-“\ Pl N
AT (S . SR 9 X w1
(A) 2V (B) 4V q\hﬂc i .
(C) -14V @y -2V Wy

EJE-2016 7 II_D ] 51 [ PT.O.
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faga oAt / ELECTRICAL ENGINEERING
26 The equation of velocity of propagation in transmission lines is given by-

graffes end=a H WHARE QU &1 "HEH

Ay V=— =g
¢ NLC B3 “NC

('1
<) = -JJ.(L" (D) V= -

27 The integration of a three phase Alternator with the infinite grid requires
- which quantities to be same?

(A) Voltage (B)\"‘/F-l equency

(C) Phase sequence (D) All of the above

Presh geudmifare orFRer w7 w7 s | §ies av s & & @ @
JREt wHE e =g ?

(A) dreew (B) amgf

(C) ST 31+ (D) Sudad a¥

28 The resistance R,,, will be:
ufader R, &1 HF 8FTT ?

50
) P V¥ S— ‘ B Wd:\
a-t,——_ f . : i %ﬂ}/ 2 /ﬁ
200
1002 2400
-
)y 12 Q (B) 16 Q | @*3\'““"'3"‘3_
i) 16°6 (D) 20 Q@

29 One AU equals to

*" g AU @7 "9 8k 8 ?
(A) 108m B) 10%cm
(C) 10%cm (D) 10'%m
30 Which one of the following is not a fractional horse power motor?
~e#X) Shaded Pole motor (B) Repulsion motor
(C) Universal motor (D) Synchronous motor
fra @ @9 tes PeEe sndfay Hiew T8 & 7
(A) 3 ya Hew B) uftreder Hex
(C) e #Hew (D) Yoamifaar #Hiew
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farga Tafs / ELECTRICAL ENGINEERING

The value of "R in the circuit is Lo
a e

AN A 9\0 ’Ls
- 10 ;

A + 10V Q \\,w“?‘, ﬁ‘?\-”yb
20V ~Tr-30V LA R
y et

Qg 7 dH R BT " BRI ?
(A) 10 Q B) 5 Q
i ) Z5 (D) Cannot be found
F81 e \T | Harn

32 Incandescent lamp is

(A) Tube light ¥ Bulb
._ ¢ ;  Sodium lamp (D) None of these
[ FrghedYe oW Brar B8 7
; (A) <TYd STEC (B) w9
(C) ST &y (D) zFH A B THE

33 The machine in which energy transfer happens both through induction and
conduction, is called ;
(A) Two winding transformer
Auto transformer
(C) Three phase Induction motor
(D) Single phase Induction motor
g8 TR0 RorEd SOt $1 8XIicR0T, URYT UF "9 (SHasaEE) S 8§ 8T
I B 1 -

(A) <1 ®usell giEamFR (B) 3ffel GIEEFR
(C) fFmsh gvor Hiex - (D) TH WHoll URUT Hew
“134 The voltage V,, in the figure will be
é'":;\_j. 5v O
V=
42" | o
v
gagy e # v, @1 "#F 8@ ?
et 3 Volts (@ree) (B) 7 Volts (@)
(C) -3 Volts (d1@e) (D) O Volts (areT)
35 In the case of three core flexible cable the colour of the neutral is
w{A} Black (B) Blue
{(C) Brown (D) Green
A TR YoRITH FEF W ggd &1 9T 'Biar 8 7
 (A) e (B) et
() w= (D) B0
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faga @it / ELECTRICAL ENGINEERING
The maximum value of power factor is
ofdad Tores T IrfSrmad T Fmy 8 ?

(A) 0.5 - Ny 1
(C) 1.5 (D) 2.0

The voltage V,,, in the circuit (which is a part of a larger circuit) will be

> -
by 20 g, A S
RN

a o T A
50 ~ ) T : @.
5A  6Q _
S Rra #§ (G @ a2 af¥e @1 e 8) # aiees v, 8Rm ?
(A) 3 Volts (@) (B) -3 Volts (aree)

) 15 Volts (dree) " (D) -15 Volts (dree)

Solder is an alloy of

(A) Copper and aluminium  N\@&J Tin and lead

(C) Nickel, copper and zinc (D) Silver, copper and lead
HieeY UPH UPR BT Talg 8 ?

(A) AR wd gogAfTas MB) 51 va s

(C) e, »iax wa i (D) fHeayr, U vd o=

The internal resistances of an ideal Voltage source and an ideal current
source respectively are (in ohms)

(A) O and eo (B) O and 1
wmﬁaﬁﬁmﬁﬁwwmﬁwﬁﬁaﬁmmm

fre By & (309 W) ? \.a;'(;

(A) O TF oo (B) 0Td 1 ¢ @®
(C) o T o (D) o TIO @“;h,_.b >

Which of the following is the description of largest size resistor? (given that _. g
the material used in each is same)

(A) 100 Q. 20 Watts (B) 10 €, 100 Watts

(C) 1K ., % Watts (D) 1M Q. }4 Watts
ﬁﬂﬁﬁaﬁamﬂaﬁaéw%ﬁ%maawmﬁ%(maﬁﬁwﬂa%
gt e &)

(A) %00 Q, 20 ge (B) 10 Q, 100 qE©

(C) + a6 Q,1/2 ae D) 1 AT Q,1/4 TGEe
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fage SP@ftr / ELECTRICAL ENGINEERING
A thermistor has temperature coefficient of resistance
(A) Positive ~= (B) Zero
: w Negative (D) any of the above
ue opffeer N UfeREI amgETE @B A BT quTis BIAT B P
(A) HTHSD B) =
* (C) ZREITRHS . (D) =71 J d1g UH 8
4 [=1=4
. Calculate voltage at point A 9e O\tb
: A fig uwr dieest &1 aRebas B 2°
| 69 Yot
b A B ' Vo YA % i
; =< J 0.6“5!] T 7~ # ‘Pg?) 200
' ; _ - : o Ue o Npler. ©
2A (L) < 0.025Q %0.150 jL/JZA *c?«*}-;lf:; A.;-r—-‘;;q) Y
-Vo _, ] ‘ [ -
oo | o X9
2eoVs (A -75V B) -50V v2.e ¥a ¥ %°°
_t © 25V (D) -10V 72 :’ A
—2¢ce VR
--43 The filament of an electric bulb is made up of tungsten because e
(A) It is cheaper (B) It is brighter 259 cVa
(C) Its melting point is high (D) Its resistance is low _ga@cNa
+% Wﬁ@mmﬁﬁmﬂemﬂwaﬂmm%m —-'“‘\E

: (A) 98 =T BN B

Va (B)'agaﬂa-ﬁw@m%

(C) SEHT TTo=E e Sar 8
D) SaHT uiker w5 BT 8

u\‘f“‘ Transformer oil should have

¥a = £ Ve®] High flash point (B) High Viscosity <.
(C) High sludging tendencies (D) None of the above

w\‘n:'—cﬂm' am” f_b[ Eh;n in-‘%-q

V=€ ay wea @ fig B) Sea T

""-‘""’."x((:) Soa R e (D) ¥ W R T

45 Three equal resistors are connected in series, across a source of emf, dissipate‘
10 W of power. What would be the power dissipalted when they are connected
in parallel across the same source.
%ﬁg@?ﬂﬂwﬁﬁmﬁeﬁﬁhﬁ%qﬁmmﬁ@maﬂﬁ
%lﬁsﬁﬁgﬁm@nﬁuﬁﬁ%aﬁrvﬁmﬁmmﬁ?ﬁm

g el
s

a

(A) quw B) 30W T . tfe I
A2 9OW D) 270 W AECEIER) \
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faga o™ / ELECTRICAL ENGINEERING
46 An inductor is supplied with 200V at SO Hz. The current flowing is

ot
10 Amperes. The value of inductor will be e "31//
“ (A) 63.6mQ (B) 20mQ LB e UL

Lr~63.6m Henry (D) 20m Henry -
U U P 200 dlee, 50 W I@fia ur fRar @mar & & SEw 10 ofumR %
SRT F8l B WS &®T " 8ETT

(A) 636 faeh aim (B) 20 faeh 3w Léé%; 9{’{/
(C) 636 fach =18 (D) 20 el &8 K= %*;?E:%g%
47  DC servomotors are used in - # 2

(A) Purely DC Control systems

(B) Purely AC Control systems

(C) Both AC & DC control systems
(D) None of these

€. . wdal Wiex BT YAET BT 8- -
(A) Yo 1. AL ware e #§ =
(B) goia: €. ¥ i fawen #

(C) BFT T W g I A s ReH

(D) S99 | HE FJB|

48 Which of the following material is not used as fuse material?

(A) Aluminum (B) Tin
(C) Lead (D) Carbon
fFr=ifea & & e uar! &1 9ar wgs ugel & w9 # 98 fBar sar
&
(A)  vgfafram ®) f=a
(C) <¥r (D) A )
49  If the current flowing in the circuit shown is 2A, the value of resistance R
will be oif
arR A uRuer # 2 R grT asd 8 O wfar R &1 59 8rm
2k 30 21z =1%
=
24v—— &V R 10
“a
(A) 6 Q B) 3 Q
) 9 O (D) 12 ©

S0 The Household energy meter is
\’gé) An indicating Instrument (B) A recording Instrument
) An integrating Instrument - (D) None of the above
Rl Sl Alex 8T 8-
(A) TP SSBfen swgi< (B) U G@ifEn g=gi<
(€) UT® e s=wgure (D) 39 A HiE T8
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faga oiisain / ELECTRICAL ENGINEERING

If Rg in the circuit shown in figure is variable between 10 and 40, then
maximum power transferred to the load R; will be

fora & femmg w1¢ alRueyy # afd Rg 10Q 3R 40Q & g alRadt & or
|rs WY Ry @ IaRa iftreom wiftr 8rfi—

%
20 % R, =10Q g =
N, P
1o 1@ (1L
(A) 15 W (B) 1333 W B e
10 W (D) 24 W o T e Rl
The value of R, will be | ¢

A :
Mo S ey
| ’_ 3 % = s

Rap — e S

J ; © e
sQ: Ja0
B> P !
IRl B A Rppg T 99 &6
(A) 6.4 Q (B) 24 Q
(C) 144 Q (D) 14 Q

L 53 A Q meter measures
W - +#XK) ‘Losses in a capacitor
(B) frequency
(C) accurate values of electrical quantities
(D) Properties of the coils
b Q #Wiexw Higdar 2
(A) Dufdexr sifa

B) smafa
b (C) fagha @t &1 gg #gH
(D) HfEFA & IO @Y

54 Permeance is analogous to

] Conductance - (B) Reluctance
(C) Inductance (D) Resistance
FAHATIAT GHT Bl B—

(A) HidAdhca & B) vyl &
(C) WRUT B (D) ufeRrEr @&

EJE-201 5. /1_D] 57 [ P.T.O.
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fga St / ELECTRICAL ENGINEERING

The current I; in the circuit shown is
J C%o i
_2_3 y i 10A ‘4_}_\_ \\.‘(‘)\/
© WA/ WA O e Qe”
%lh
Saa o # gt I, 8Fh
(A)_, 4A (B) -2A )
\L€)  -4A (D) 6A
Synchro is :
(A) Parabolic transducer (B) An angular position transducer
(C) A synchronizing transducer (D) A wvariable transducer
HA=pT B
(A) W ivegER (B) U UTIoR UGiEd giasSTEY
(©) & RrpFElRi gsgER (@) W AeEd SSyER o
Value of R is - ",3— e
ufeREs (R) &1 99 — \‘,b"*\'
10 9 AN R "f'\j‘ L
A .}. I "-‘r at _E . \i \&)
~F -
14 - K h
1A i
2A(T) J §1zn T - -2 X s
~ | _ O
(A) 4 Q 6 Q / =
© 8 Q D) 18 Q s N i
In star-star connected transformer. $ 3

(A) Line voltage is equal to phase voltage

\_,(‘37 Line voltage is equal to J?T pha;e; volfage

(C) There is no line current
(D) There flows no phase current

UPH dRI—ART 3MEg SFHHBER H—
(A)

TS dicedl Bl dlecdl @ S¥EY BT 2

(B) mﬁ‘a‘qﬁﬁfﬁﬁ[a’iﬁiﬁmm%

(€©) = N g9 gRT T80 8y 8

M) W N Pl URT BT 9819 A8 BT &
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59 Relative permittivity can be measured by Bridge.
(A) Wheat stone (B) Hays
(C) Schering e Mesauty‘s
Rofeg g EEE T ATT e o g1 Fo s ¥ -
(A) b= (B) ®9
() faafar D) S=rdrs
60 The reluctance of the magnetic circuit shown in fig is-
A Ry ¢ dedm wfe o ufaew ®
_) -¢ * - ==
L
N
AL
----- S
wé=" %
NI
7~ e . k) NI al
\c,:fﬁ{ & TN o) 7
t}g\ In a transformer copper losses at full load and unity p.f. are 800 W.
The copper losses at full load and at 0.8 p.f. lagging will be
i ¥ qrEefy @T W9 gul MR UG UHhe UFRTUIE UX 800W
&) ofy goMR & ufRree 0.8 AT ® o1 amerfa w1 " BRI
(A) 400W 640W p- VT O
(C) 800W (D) 200W ' E
62 motor is a constant speed motor %f.}:-— ---T'"'%
A(X)] Synchronous motor (B) Schrage motor (2 o (_7 L
(C) Induction motor (D) Universal motor @ - '
Hrex fra ofa #@er #1
(A) FEpra Hiew (B) a1 #Hiex
(C) F=mH HEex (D) THads #Hex
63 Find total power consumed in the circuit given-
5 fag v uRuy 3 fR(ga & @a @ua &1 9RkEAH HIFAY
0.
r ARN 1
{10 {10
1
15V'.__l__ ‘ b '=l=20V
wAR) 266.25W (B) 261.5W
(C) 264W - (D) 268W
EJE-2015 / 1I_D ] 59
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A 3¢ synchronous motors has been provided with damper winding. It can

be started as a
(A) Simple phase synchronous motor

(B) 3¢ squirrel cage induction motor

) 1¢ ‘induction motor

(D) 3¢ alternator

U Bewen goueifere wier ¥ wawa aEfst vam fsar aar & us
UR™ fBar o1 | ear 28—

(A) T HAT go@PHNId A & 9 A

(B) e OIS WRor #@er & wy 3

(C) TUHS BT WUT Hiew & Y H

(D) fHwen sfcexier & 9 #

The gas filled in vacuum filament lamps is ;g ‘#ﬂ.&_ o et
(A) Nitrogen ‘LB Argon o WG )
(C) Air (D) None
mfﬁ?‘ﬂﬁe@mﬁﬁﬁﬁﬁaﬂ?ﬁﬂﬂﬂﬁ%%z

(A) =TEgreE (B) 3arfq

(C) Ty (D) g =&

The wave shape of current flowing through an inductor is

[

‘4‘

N

T — t
The wave shape of voltage drop (V) across the inductor is
AEIAR BE URP B WP F dlecdi—uTd (v) P O JTER B A wE
|1 O8R ?

" o |

(C) ) (D) f/]

o T — ¢ T

(—Q.

EJE-2015 / lI_D ] 60 [P.T.O.
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The creeping is observed in
(A) Ammeter meter ; (B) Wattmeter
M) Energy meter @) Volt meter
fador @R e o9 @ fewd @w ol 2
(A) THeR Hex (B) daredex
(C) Suf HAexw - (D) drceHex
Carbon arc lamps are commonly used in
(A) Photography . (B) Cinema projectors
(C) Domestic lighting (D) Street lighting
BEA IF T BT yART BraT B
(A) WS A B) RFEa diciges &
(C) ©Rg ygHer #H (D) ESH ydmrer H
The energy stored in the magnetic field of a solenoid 10cm long and 2cm
diameter, with 1000 turns of carrying current of 10A is
10 A &1 9RT BT I8 B, dIel AR & 1,000 BRG F 0 10 I o)
aﬁ?:%ﬁrwmmsﬁqﬁm%{awa%w.mﬁﬂmﬁrmmw
BITT? : -
(A) 1.15] (B) 0.0157
(©) o0.19) (D) 0.5
El ostatic instruments are used for measuring
AC and DC voltage (B) AC Voltage and current

(C) DC voltage and current (D) AC and DC currents
Rer Aga Sumvur fewas ws & wanr # e o 2

(A) AC 3’ DC drecdar (B) AC drccar 3R sRT
(C) AC dicedar aiie s (D) AC 3R DC =T
The gain of an operational amplifier will be maximum at-
(A) 1Hz (B) 50H=z
(C) 100Hz AD) DC
UFh IMRTHS URSATHIEOR BT 949 IfDpas 25— -
(A) TP sSw (B) 50 BSS \J/’
(C) 100 B (D) = /. F w2 X \O
© #
Value of R in © V &2
R &T A Q A — , \'Oq{‘-i' \
' % g
1aa v SRR R P oM
& oo o T V-
10Q | oes A
100V \/65\/ \ 1

(A) 10 © o 20 Q@

(C) 30 @ D) 40 Q

EJE-2018 / II_D ] 61 [ P.-T.O.
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Distribution transformers have core losses-

(A) More than full load copper losses _

(B) Equal to full load copper losses \
(C) Less than full load copper losses

(D) negligible compared to full load copper losses

faaror afRonfaca & fsash s &y i 27
(A) 9ot ¥R am sifval @ e
(B) Uof IR T sifdi & svEw
(C) Yol AR am s | 9
(D) Of ¥R am = Et @& gosn § =g

Which one is not a basic logic gate?

(A) _AND gate (B) NOT gate

¥ NAND gate (D) OR gate
T O B Iffe it e T8 &—
(A) AND I (B) Hie Wie
©) = e (D) 3R e
Tesla is same as
(A) weber/meter b \Lﬂ'j/ weber/ (meter)
(C) farad/ meter (D) Henry /(meter)?
eHeT fhad wHE 2| _
(A) &R/ Hex (B) 8/ (MeR)?
(C) s/ #Hex (D) B/ (Wex)?
What are the advantage of DC transmission system over AC transmission
system?

(A) DC system is economical for long line
(B) There is no skin effect in DC system

Corona limits are highest for DC circuit as compared to AC circuit
(D) All of the above -
UL giEfEs gomel uv €1 W grufiee uonel @ wrar @y 87
(A) 9L ol fPegdl 8, ol g @ faw
B) . woNEll A PE U gHE & &rar
(C) =T M ol wfde &N gom a1 SoWo vl F a2
O) Sudad T

NMI stands for

(A) Non-mask interface \_(B¥ Non-makeable interrupt
(C) Noo-mask interaction (D) Nomne of there

NMI =7 e &—

(A) A 9O=F I<T3IDS (B) A ARDAA ITIC
(C) S A T<=war= (D) &1 87|

The dissipation factor of good dielectric is of the order of
IV JAETH BT ITHY HRSB by Aof BT

(A) 0.0002 (B) 0.002

(C) 0.02 (D) 0.1

EJE-2015 /D ] 62 - [ P.T.O.


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


www.prepp.in

prepp

Your Personal Exams Guide

frga SSifF@ftr / ELECTRICAL ENGINEERING

(@ Voltage under extra high voltage are-

80

81

82

84

~ (A) 1KV and above (B) 11KV and above
£C) 132KV and above w@P) 330KV and above
yfoRea S=a diees & 3r<fa dicest 8 8 |
(A) 1 I IR FUR B) 11 a1 IR SR
(C) 132 @l IR HUR (D) 330 HAl 3R Hux
A passive network is one which contains
(A) Only variable resistance
(B) Only some sources of emf in it
(C) Only two sources of emf in it
No source of emf in it -
g Uffg Aead sar 2 forad
(A) Had s uoREr & (B) Had BB emf WY
(©) dHasd ar emf Y (D) PIE emf HE &I
Coal used in power plant is also known as
(A) Steam coal (B) Charcoal
(C) Coke : (D) Soft coal
Aol wam # gwHea e i v9 A W S ST 8
(A) M HrIgar B) FARDIE
(C) @D (D) -RA DT
If the height of transmission tower is increased, which of the following
- parameter is likely to change? U
(A) Resistance (B) Inductance
A LBy Capacitance (D) None of the above
gReor TRt @ FHarE gg Wi 8, @ = "JuESy @, ST o gem @1
PN 8 . ;
(A) ufeREr : B) IFTSHcH
(C) dufae=w (D) SuRiEd d J HIg T8
One-Maxwell is equal to ' %
V@{ 10-8webers (B) 10*webers
(C) 10“%webers (D) 108webers '
U HgHdel =
(A) 1078 Jag . (B) 10* a«d
(C) 107% Jad (D) 10°%° =Y
Which of the following is not part of diesel engine power plant?
(A) Cooling tower (B) Penstock
(C) Oil pump (D) Strainer
= 3 9 BF a9 Saa o fAerelt "@as w1 B a9d 87
(A) AT TR (B) UaETH :
(C) ©= g D) ¥

EJE-2015 / 1I_D ] 63 - [RP.T.O.
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ACSR Conductor having 7 Steel strands surrounded by’ 25 aluminium
conductor will be specified as
25 TEHITOH #sdmer A forT 7 Wl Wve ACSR &+ ¥y avs Biffe
fsar SR ? |

7 E

(A) 25 @) 35

o 2 25

© = _. ®) 33

Which of the following primary cells has the lowest voltage?
{A) Lithium (B) Zinc- chloride

(C) Mercury (D) Carbon-zinc

1 3 & fpa a9 7 aR’w <o @9

(A) <ferm B) Sie—adREs

(C) #=&Hq (D) HEaI—R®

Compressor used in gas turbines is
(A) Reciprocating compressor (B) Plunger type compressor

(C) Screw compressor (D) Multistage axial flow compressor
T cw@ET 7 sREE A 9F g Ry 2

(A) BET e (B) wWulR TIZY SR

(C) Ug HER (D) AR 1&g yaE HEE
Steel poles for transmission lines need protection against-

(A) Termites (B) Borer

(C) Corrosion (D) All of the above

aRyer gl @ o, sva die o7 feENy wReT @ sravadar B 27
(A) <H® (B) dIRY ;

(C©) < (D) SuRIE e

In a system if the base load is same as maximum demand, the load factor
will be i

(A) 1 (B) Zero

(C) Infinity (D) 1 percent

I IS AWHTH HE B wy A & R, O U yoneh 7 e daew &9
(A) 1 - (B) I3

(©) s D) 1 e

In the analysis of short transmission lines, which of the following is neglected?
(A) I2R loss (B) Shunt admittance

(C) Series impedance - (D) All of the above

g 9fR¥oT o B fvdwer 3 e 3 ¥ frad sdem @ e ¥
(A) 1I2R BIfY (B). Tic vsfae=

(C) e ufaEmr (D) SURSRT T

EJE-2018 / IILD ] 64 _ [P.T.O.
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faga s@fm@ft / ELECTRICAL ENGINEERING
The period of a wave is
(A) the same as frequency
Time required to complete one cycle

C) expressed in amperes

ED; no;r,:e of the abofe @?{qﬁ
UH a9 b1 RRas & ; :
(A) Traa=® <Srar :

(B) & I®% WX v & faw gifesa wHa 2\

; erpoer =8>
(C) qfrumd # ara Exe B
(D) SR #H ¥ ®is T8l v %
The ‘power factor of a system on a 460V, 3 Phase, 60Hz, in which the
ammeter indicates 100amp and watt meter reads 62KW will be
fpefl wonel T u@R waex T 8FT AfR YUl 9R 460 dlee, 3WSl, 60 4
gd51 Ux e 100 Amp 3N 62 KW @1 A R & 7
(A) 0095 ) 0.78 o ABEIAT \yt g
(C) 0.65 (D) 0.55 Jo 7P
A C T is connected in with the line
(A) Series - (B) across
(C) Both A and B (D) Not connected
UH CT dEd & 9 H OGSt 83 2
(A) g (B) 9R
(C) A 3R B &Fl (D) SIS A/ B
Armature reaction of an unsaturated DC machine is
(A) Cross magnetizing (B) Demagnetizing
\‘Jﬁi”' Magnetlzmg (D) None of the above

& W e @ smier ufafsar &
(A) HE Hreesfom (B) f%ﬂ'aﬁagﬁw
(C) Hmefom (D) SWREd H 8§ ®Ig A8

When alternanng current pass through a conductor

(A) It remains uniformly distributed throughout the secnon of conductor
Portion of conductor near the surface carries more current as compared
to the core

(C) Portion of conductor near the surface carries less current as compared
to the core

(D) Entire current passes through the core conductor

Uh HoSdeY b ARG H UIEd ORT YOR B, 949

(A) T8 EHF B9 ¥ dsdaex @ arT wx A RaRa wwar 8

(B) @R @ Ja-T ¥ wWas & Ut IS gRr7 B8R /)

(C) R & T # a8 & UH HH GR] B8Rl B

(D) 1 9RT FSae R G oA 2|

EJE-2015 / 1i_D ] 65 [P.T.O.
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96 Inductance furnaces are used for
(B) Heating of insulator

(A) Melting of aluminum
(C) Heat treatment of casting (D) All of above

Wwﬂfﬁeﬁmﬁrmvnm%

Leonard method gives uniform Speed variation
(B) in both direction ‘

(A) In one direction
(D) above normal speed only

(C) below normal speed only
mwmﬁﬁﬁmﬁwm%ﬁqﬁéﬂ&
g (A) T faemr 3 B) =T sy ¥
'(c)mw:nﬁrﬁ#ra D) sm= 7Ry ¥ suv
98  For distortion less transmission line P
32 TH AU Seuwor wmgw @ fere P‘\‘_““""’j’im_
\\fK)' R/L=G/C (B) RL=GC L
(C) RG=LC (D) RLGC=-0 - | )
P_ 4

the electrodes used are made of-

99 For arc heating,
(B) Tungsten »

(A) Aluminium

(O) Copper
anaéé?%w%f?—m,ﬁ'rﬁenga%ﬁsaa@sms’rﬁ%?

(A) Ty (B) <
(C) =mw (D) Awze
100 The highest voltage for transmitting electrical Power in India is
qHRT H RS gy SETH  gree oy
(A) 33kVv (B) 66kvV
/LC) 132kVv (D) 400kvV
at a distance D, the Capacitance

101 When two conductors each of radius r are

between the two is proportional to-
r%@@ﬁﬁﬁaﬁrﬁaﬁwﬁﬁbaﬁ#aﬁﬂ%%ﬁ

BuRE= &1 AU |
O log, (—?J (B) lose(ﬁj
1

(©) log, (é)-} (D) log (-l%-)

EJE-2015 / 1_D 3 [P.T.O.
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102 The power factor will be leading in case of -

(A) Induction heating (B) Resistance heating
__,_JC) Dielectric heating (D) Electric arc heating

qEer Baex o # fpw Refy & sooft &Fm 2

(A) WRIT ISHH (B) ufoRer SsH

(C) SiEzdfaE®d IHA (D) safage 3ms SHHA
103 The low power factor of induction motor is due to

(A) rotor leakage reactance
(B) stator reactance

\a....(-(’.)J the reactive lagging magnetizing current necessary to generate the

magnetic flux
(D) all of the above

sequ Hiex &1 Uy Baer e "M &1 R R | BIAT &

(A) VieX elidul RuaeH

(B) wex RuadwH

(C)ﬂﬁ%ﬁﬁmﬂmmﬁ%mmﬁqﬁeﬁéﬁmmﬁ
P

(D) SuxTaT |

104 Alternating current is transmitted at high voltage
(A) To safeguard against pilferage
(B) To minimize transmission losses
(C) To reduce cost of generation
(D) To make the system reliable
geaTadt SIRT T UNUT ISl Sea dieedr WR AT Sir @ —
(A) a9 & Raoms am & fag
(B) weRol B &1 &H B @ fag
(C) T@EA & ANt FH d b feg
(D) wotelt w7 fARawia g9 & e
105 T;}::;:) among the following cable are generally suited for the voltage up to
(A) Belted cabless (B) Screened cables
(C) Pressure cables (D) None of these
frfeiRaa dact & g # S 9H=IaG: 11 kV db P dleesl @ farg
SEECasl g
(A) doos adfad (B) whIe &fad
(C©) I *fqaA (D) 3T 6 ®E AL
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106 When two capacitors are connected in series, there total value of capacitance-
(A) Remains same (B) Reduces
(&) "Increases (D) None of these
mﬂ%ﬁﬁamﬁ%mﬁﬁh@aﬁ%?ﬁrﬁww:
A) e wsar 8 (B) wear &
(C©) ==gar 8 D) =799 & H1F T8
107 In an electro dynamometer type Watt meter if the voltage and current measured

0\

are given by 9 = 100sin314r and 7 = 10sin (3 147 — 60°) respectively,

the reading (in watts) will be

r-\wsﬁ@mﬁmﬁamﬁﬁaﬁmqﬁwmﬁrﬂg
L &
Y "f;lra_—,loosin314f vq :‘=lOsin(314r-60°) BRI HArexw &1 AfS (ares

P
P
o H) o= 8rfy 2
<> (A) 1000 v'(ﬁ- 500 (C) 250 (D) 433 |
108 1In a series R-L circuit with supply voltage of 5V. the voltage across the
: resistance ‘R’ is 3V. The voltage across ‘L’ will be
P WMR-LW#@(W@WSV%!W'R'H%WA
“'\»1.‘ 3vz’r?ﬁ'L'$an?m?%a=ﬁa’lst\‘aﬁ? ¥ =74
- (A 2V . (B) oV ¥

© 5V D) 4V 4

109 The domestic electric supply is what value of A.C. supply

(A) Average value (B) Mean value
v”®C) RMS value (D) DC value

EﬁﬁﬁgﬁaﬁmﬁgﬁmAcaﬂaﬁqwmﬁm%?

(A) RS 7= (B) = HE

(C) 3RUHATH #[H&H (D) ¥/ ==

110 In the measurement of 3 phase power by two watt meter method, for an
unbalanced load, the power factor of the load is

ﬁmmmﬁﬁmﬁa%ﬁ.w@ﬁﬁrm%@mw
AT e g e ?

- o _Wl) -1 W, -m
'&Lﬂf) cos| tan 1{15!”,22_'_7} (B) cos[tan {m

(C) cos (PVz - Wl) (D) None of the above
SHT H O prd oy TSt

EJE-2015 7/ 1I_D ] 68 [ P.T.O.
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1110:(1‘? doping material for an N—type semiconductor is

) Pentavalent (B) Tetravalent |
(C) Trivalent (D) Bivalent
Wh’emﬁmeiaw%m,qﬁﬂaw%?

(A) UYE WOSD (B) =g WASIP
©) PBaw® D) feEaw®

112 Damping torque is essential to
Increase oscillation
(B) Reduce oscillation
(C) Maintain Oscillations unchanged
(D) None of these

Sfedr Aeayel & Hifs a8 —

113 In which of the following instruments, a disc is present?

(A) Ammeter (B) Voltmeter
(C) Wattmeter Energy meter

P 3§ fpu Suwwr A o R gt & 7
(A) TR ®) dreeHeR
(C) dreHeR (D) oI (Sorrard)
114 Two coils have self-inductances L, and L, henry respectively.' If the two

coils are connected in series and the Mutual inductance between then is M
henry, the value of maximum resultant inductance of the combination will

be !
ﬁ@sﬁtﬁ$wﬁme,qﬁL2%ﬂﬂ%|tﬂ$Mﬁwﬁ
@mmqﬂwﬁﬁﬁmméﬂﬁsﬁwwﬁmﬁmm
frpas w1 ?
(A) L;+L*M N@y” L,+L,+2M
(C) L,+L,-M D) L,+L,2M
115 Stepping up of voltage during transmission is done to-
(A) Increase efficient power transfer
(B) Maximum power transfer
(C) To reduce Transmission losses
(D) To reduce voltage losses

EJE-2016 / 1I_D ] 69
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(A) -243% (B) 243%
SNK C) -4.86% (D) 4.86%
Q}D 117 What is that property of a coil called under which if there is a change i
!-» current flowing through it, a voltage gets induced in the coil itself as

as the neighboring circuit? :
(A) Resistivity '\-(B'rfnductance :
(D) None of the above

901 S B OraT & ?
(A) yfdrersar (B) W&o
©) =fSia D) 99 q g =5

118 Synchronous speed equation is

%ﬁw%mvﬁaﬂwaﬁm%?

1207 1207
NS‘ = NS =
AT = (B) =
: Pr 120
= N =2
(C) Xs 120 (D) Pr
119 A series motor is best suited for

High starting torque requirements
(B) - Low starting torque requirements

(C) Constant speed

(D) High speed
w@ﬁ.ﬂﬂ.ﬁwmﬁ)qﬁawmﬁzﬁrmgaﬁ??

(A)ﬁwww#%g(a)ﬁwuﬁ%mﬁwag
©) Rer wify &g (D) w== fy &g

@ Three currents i, | i and i; meet at a node. If ;=10 sin(400t+602)A anq
i,=10sin(400t-609)A then iy=
; & B, 3 i,=10sin (400t+609) A

Eﬁamﬁi[,izqzr'iaw#@wﬁ‘m
10sin(400t-6079A & o i3 &1 #5F grm (ofuax #)

K’?:I" i2=
(A) o w (B) 10sin400t A
(C) -10sin400t A (D) -5./3 sin 400t
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faga it / ELECTRICAL ENGINEERING
Which of them is peak load station?
- (A) Small capacity thermal plants
(B) Diesel stations
Q™ Run off river plant
(D) All of them
T @ e oie W P & ?
(A) HH &FdaT & o Wiie (B) Sioid eH
(C) ¥4 3 AR wiic (D) SuRIEd T

122 In which type of frequency meter, the frequency is found when the torque
in the moving coil becomes zero?
(A) Vibrating reed type ‘
(B) Permanent Magnet moving Coil type ~2
(C) Moving iron type
(D) Electrical resonance type
=1 # & fpw smavea A grT smgfta &1 A9 w1 H/USTN H FATEOT
@ I B o uR fRar sar 8 7

(A) HUEAHR T ywUl (B) W gEaa g @ISl Sudd
(C) = &g uud (D) Yd ygaE gwHd
123 Which three phase system does not contain neutral?
(A) Star
elta

(C) Both do not contain (star and Delta)

(D) Both (star and Delta) contain

fra oo Ries # Se= (RIgd) 8 8xar ?
(A) ¥R

(B) =T

(C) <FT # &1 8ar (TR 3R See)

(D) ©FF # 8ar 8 (TR 3R Sw)

124 A synchronous motor is
(A) Self starting mon self-starting
(C) Sometimes self-starting (D) None of them

v Rmp=a AR

(A) Jop wIfdsr 8K 8 :
(B) A o wifdw 8l 8
(€C) N N Jop wifda 8N 28
(D) 398 | HIg &

'< 125 1In an attraction type moving Iron instrument, the damping torque is usually

provided by ;
-~ (A) Air friction damping (B) Eddy current damping
(C) Fluid friction damping (D) Capacitive damping

TUh A oiE ((ede gwdl) Iuds H gHgd Fgeregel maR uv e
P gRT vaE O orer & ?

(A) g =¥l 3IyaHeA (B) ¥HaX €RT 3rgHaA

(C) el u¥uT IaHe (D) wER= 3@HE=
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